ZEZRFURLE
ZE SERIES GEAR BOX

M 23R E Sectional Drawing

B E5S . HEEFRIRREE Type And Model Number

@ #uHH%H Output shaft

@ jHEd Oil seal

® iHHimATEH7 Output shaft front bearing
@ 1TE%L Planetary gear

® K% Solar wheel

® i#EHHE Full needle bearing

@ BiZ= Front cover

iS4/ 4M7R Output shaft rear bearing
© iHEY Oil seal

@ BX$AES Coupling

@ IR Lock ring

@ 5= Rear cover

ZEIF3EEA, ZE Reducers

{ZIRREBH, Servo Motor

090 ZE 20 () (S1)
@ @ @ @ 6

- 750 [
® @

TRIEAHEES: 090 E4ATIP10

Gear head frame size: 090, (P10)

(2/ IRENRFIR S ZE

Gear head series code: ZE

@  EEEL: 20 BRIIP10

Gear Ratio: Single Stage 20, (P10)

@ ¥BE B{RIPI10
TP (BT FEEEIP SRR
AR R A ST TR £ 5%ATHYE

Amount of backlash, (P10)
Standard type P2 (Omission), precision P1, high precision PO
Precision (The load of output shaft is 5% of allowable output torque)

®  BNHEE
S1: TEHIEIABIR (ST
(RICBARGEREEAER (B0 FENER)
S2: RS SR (MANHTIE)
A: BftiERCRR (5 S AN EIBKER)

Input shaft type
S1: Locking with locking ring (Omission)
(Regardless whether the motor with keyway can use it. But “D” cut can't use)
S2: Locking with keyway (Input shaft with key)
A: Other type (Please contact with us)

®© ERERDAIIEW)

Applicable servo motor power (W)

@ (ARDRES

Model of servo motor

P09



LG
PRODUCT SPECIFICATIONS

I REM 1EEEEEL Reducer Performance Data

& RE VERERd
Specifications Node Number Reduction Ratio Ltz iz Lz [ JaEe e i
3 - 55 130 208 342 588 1140
19 50 140 290 542 1050 1700
5 22 60 160 330 650 1200 2000
: 6 20 55 150 310 600 1100 1900
7 19 50 140 300 550 1100 1800
8 17 45 120 260 500 1000 1600
9 14 40 100 230 450 900 1500
10 14 40 100 230 450 900 1500
15 5 55 130 208 342 588 1140
20 19 50 140 290 542 1050 1700
BUERHIE T, Nm 25 22 60 160 330 650 1200 2000
30 20 55 150 310 600 1100 1900
35 19 50 140 300 550 1100 1800
40 17 45 120 260 500 1000 1600
2 45 14 40 100 230 450 900 1500
50 22 60 160 330 650 1200 2000
60 20 55 150 310 600 1100 1900
70 19 50 140 300 550 1100 1800
80 17 45 120 260 500 1000 1600
90 14 40 100 230 450 900 1500
100 14 40 100 230 450 900 1500
SEHET,, Nm 1,2 3~100 MSEE S5
BN R N, rpm 1,2 3~100 3000 3000 3000 3000 3000 3000 3000
BEAENEE, rpm 1,2 3~100 6000 6000 6000 6000 6000 6000 4000
P ) 1 3~10 - - - <1 <1 <1 <1
EIBEERISE PO S 2 15100 - - - <3 <3 <3 <3
A ) 1 3~10 <3 <3 <3 <3 <3 <3 <3
RIS P1 aremin 2 15100 <5 <5 <5 <5 <5 <5 <5
Sp— ) 1 3~10 <5 <5 <5 <5 <5 <5 <5
RIS P2 arcmin 2 15~100 <7 <1 <1 <7 <7 <7 <1
R Nm/arcmin 1,2 3~100 3 7 14 25 50 145 225
BHREA F N 1,2 3~100 702 1377 2985 6100 8460 13050 8700
YA F,y N 1,2 3~100 390 765 1625 3350 4700 7250 18000
ERE® hr 1,2 3~100 20000*
bz N 1 3~10 >971%
BEn »* 2 15100 ‘ ‘ ‘ >94% ‘ ‘ ‘
= 1 3~10 0.6 1.4 33 6.9 13 31 53
e ko 2 15~100 09 | 16 | 47 | 81 | 17 | 3 | 66
FRRE °C 1,2 3~100 -10°C~+90°C
e 1,2 3~100 ERkiEE R
PP 1,2 3~100 IP65
ZEHH 1,2 3~100 FEAR
= —
fffﬁofgf%“ﬁﬁ) dB(A) 1,2 3~100 <56 ‘ <58 ‘ <60 ‘ <63 ‘ <65 ‘ <67 ‘ <70

P10 W REHNEEEN B & Moment Of Inertia Of The Reducer
& RE IIEREL

Specifications Node Number Reduction Ratio e e Lz A SR e At

3 - 0.16 0.61 3.25 9.21 28.98 69.61

4 0.03 0.14 0.48 2.74 7.54 23.67 54.37

5 0.03 0.13 0.47 2.71 7.42 23.29 53.27

1 6 0.03 0.13 0.45 2.65 7.25 22.75 51.72

7 0.03 0.13 0.45 2.62 7.14 22.48 50.97

8 0.03 0.13 0.44 2.58 7.07 22.59 50.84

9 0.03 0.13 0.44 257 7.04 22.53 50.63

10 0.03 0.13 0.44 2.57 7.03 2251 50.56

15 5 0.03 0.13 0.47 2.71 7.42 23.29

20 0.03 0.03 0.13 0.47 2.71 7.42 23.29

HRE J, Kg-cm?’ 25 0.03 0.03 0.13 0.47 2.1 7.42 23.29

30 0.03 0.03 0.13 0.47 2.71 7.42 23.29

35 0.03 0.03 0.13 0.47 2.71 7.42 23.29

40 0.03 0.03 0.13 0.47 2.71 7.42 23.29

2 45 0.03 0.03 0.13 0.47 2.71 7.42 23.29

50 0.03 0.03 0.13 0.44 2.57 7.03 2251

60 0.03 0.03 0.13 0.44 2.57 7.03 2251

70 0.03 0.03 0.13 0.44 2.57 7.03 2251

80 0.03 0.03 0.13 0.44 2.57 7.03 2251

90 0.03 0.03 0.13 0.44 2.57 7.03 2251

100 0.03 0.03 0.13 0.44 2.57 7.03 2251

TIRERLL(i=N,/N,,,) 2. B AR NNEFIFET 5 =60% of T, 3 EEE00rpmAT , YERTF iR OE.

*ELIEE |, % /910000hrs



R~ (824, mhiELL i=3~10)

DIMENSIONS (SINGLE SEGMENT, REDUCTION RATIO i=3~10)

B R <T'E& Dimensional Drawing

i Output I Input
c9
L8 L2
D2F(depth)L7 L1 13 Lic7
4
5116
sls ‘ Tere oo
83 +H—HE=l5255
ESIES] o1 6|
ce
ca
2‘ _
z D5R(depth)L9
IE
|
H1
B R~JZ& Dimensional Table [B{ZUnit: mm]
Rtsize 050ZE 070ZE 090ZE 120ZE 1552E 205ZE
D1 44 62 80 108 140 184
D2 M5x0.7P M5x0.8P M6x 1P M8x1.25P M10x1.5P M12x1.75P
D3 12 16 2 32 40 55
D s 35 52 68 90 120 160
D5 M4 x0.7P M5x0.8P M8x1.25P M12x1.75P M16x2P M20x2.5P
D6 53 70 104 130 162 205
D7 50 70 90 120 155 205
L1 } 315 36 50 .
L2 245 36 46 70 97 100
13 4 6 8 17 15 15
L4 1 28 36 51 79 82
L5 14 25 32 40 70 70
L6 2 2 3 5 4 6
7 8 10 12 16 20 2
L8 47 66.5 80 96.5 1195 154
L9 4.5 12.5 19 28 36 42
Iy 10 70 100 130 165 215
c2 M4x0.7P M5x0.8P M6x 1P M8x1.25p M10x1.5P M12x1.75P
c3 “<11/212 “<14/<16 <19/<24 <32 <35/<38 <42/<48
c4 30 35 405 51 60 85
C5 e 30 50 80 110 130 180
c6 35 8 4 5 6 6
c7 48 60 90 115 142 190
C8 19.5 19.5 17.5 20 225 29
c9 91 17 1435 186.5 239 288
Bl 4 5 6 10 12 16
H1 14 18 24.5 35 43 59

*070ZE 5,10 R LR HC3 <167 ik,

P11



R~ (7%, /&Lt i=15~100)
DIMENSIONS (DOUBLR, REDUCTION RATIO i=15~100)

Il R <J'& Dimensional Drawing

i Output BN Input
c9
c8 L8 L2
. DZR(depth)L7 L1 L3
0c7
i == =
28 SEEE )
(Rt 8 &%
&
— ~
C6 402 oc1
ca
(=]
= D53(depth)L9
i
H1
Il R~J 3 Dimensional Table [ 2Unit: mm]
R Size 050ZE 070ZE 090ZE 120ZE 1552E 2052E
D1 44 62 80 108 140 184
D2 M4 x0.7P M5 x0.8P M6x 1P M8x1.25P M10x1.5P M12x1.75P
D31 12 16 2 32 40 55
D4 w 35 52 68 90 120 160
D5 M4 x0.7P M5 x0.8P M8x1.25P M12x1.75P M16x2P M20x2.5P
D6 53 70 104 130 162 205
D7 50 70 90 120 155 205
L1 - 315 36 50 -
L2 24.5 36 46 70 97 100
L3 4 6.5 8 17 15 15
L4 1 1 36 51 79 82
L5 14 25 32 40 63 70
—_— L6 2 2 3 5 5 6
P12 L7 8 10 12 16 20 22
L8 74 87.8 118 138 169.5 207.5
L9 45 48 19 28 36 42
c1 46 46 70 100 130 165
c2 M4 x0.7P M4 x0.7P M5 x0.8P M6x 1P M8x1.25P M10x1.5P
c3 <11/<12 <11/<12 <14/<15.875/<16 <19/<24 <32 <35/<38
c4 30 30 35 405 50 60
C5 o 30 30 50 80 110 130
C6 35 35 8 4 5 6
c7 48 48 60 90 115 142
c8 195 195 19.5 175 125 225
c9 118 143 183.5 2255 283.5 335
B1 1 4 5 6 10 12 16
H1 14 18 245 35 43 59




	页 9
	页 10
	页 11
	页 12

